vPuni Yoz,

0000O-00UXP325D

gbooooooboooon

HRN

guooobooogooo

gobobbbbouodgooobobbbboooogobooo
goboboobboooooobobobbodd

0 0 UXP325D 0O O

| o SR | ZHRIGOE HE| BE BEE | EE st
£ L1 L2 D | H h | W EE&RY
ltem No Screw

mm mm mm mm mm mm

UP315D-11P 153 138 9-M5x10
UP315D-13P 163.5 148.5 11-M5<10
UP315D-15P 177 162 13-M5x10
UP315D-17P 190.5 179.5 12 20 2.3 25 | 2-M8x12 15-M5x10
UP315D-19P 204 189 17-M5%<10
UP315D-21P 21ES 2025 19-M5%<10
UP315D-25P 244.5 229.5 23-M5%10

1/2



vAun iz Q..

000000
ggdod 661051
0ooo
0000
[ '|
D
I POOOO®@E, » P .
A Y Y Y Y Y Y Y Wt — L
Ll
0000
o 2k |mmahom BE | sE| 2E| B "
Es L1 L2 D | H | h | W i
ltem No Screw
mm mm mm mm mm mm
UP315D-11P | 153 138 9-M510
UP315D-13P | 163.5 148.5 11-M5%10
UP315D-15P | 177 162 13-M5x10
UP315D-17P | 190.5 175.5 12 | 20 | 2.3 25 |2-M8x1215-M5x10
UP315D-19P | 204 189 17-M5%10
UP315D-21P | 217.5 202.5 19-M5%10
UP315D-25P | 244.5 229.5 23-M5x10
0ooo

C€DDCEDD

2/2



http://www.tcpdf.org

